[ Efficien

cy vs vertpos |

= 0.5
$0.45F
o F
z 04:—
90355—
S E
5 0.35—
0.25F
0.2F
0.15F
0.1
0.05H]
o +0f
T r
a4 L
0.95L
1072

10 1 10 0?
TP vertr (cr%)

DQV XIMINUsS, _original_| IOWP
—e— DQM_XiMinus_newbranch_lowpt

Efficiend —— DQM_XiMinus —original_lowpt_pLess

—— DQM_XiMinus_newbranch_lowpt _pLess

N 0.2
00.18F
o E
>0.16
>
8 I
$0.14F
(&) L
£0.12
()
0.1
0.08F
0.06]

0.02

0.04f-

Ratio

M I AN AT ETEE
E”||I|un§ml|l|”§

§“|||HIII§IIIII||||§

-20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.5
>
8 0.45-

...............................................

.................................................

..................................................

................................................

510 15 20
Sim. PV z (cm)



	Contents
	Page 1


